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AJMAL SUPER 40 ENTRANCE TEST-2020 %
Conducted by : AJMAL FOUNDATION, Hojai AJ A'-

INSTRUCTIONS TO CANDIDATE
Candidates are to use the Answer Sheet provided.

2. Ensure that you fill in your Registration No. correctly in the space provided in the OMR sheet as shown in the
example there.

3. Candidates are required to mark the correct answer choice by shading the circle completely with blue or black ball
point pen. (Pen of any other colour or pencil is not allowed). For example, if the correct answer to question no 1. is 'B'
then the marking should be:

1. Wrong method 1. Correct method

4.  Write your NAME on the answer sheet.

5. Onlyone circle, i.e. the correct one should be shaded. Shading more than one circle will render the answer invalid.

6. Acandidate having completed hissfher ANSWER SHEET must hand it over, even if blank, to the invigilator along with the
Question Booklet before leaving the Examination Hall.

7. Anexaminee must not bring any loose paper, book, etc. to the Examination Hall. Any examinee found in possession
of even loose papers will be EXPELLED.

8. Anexaminee must not talk to, disturb or seek help from a fellow examinee during the examination.

9. Any mechanical or digital calculating device (calculator etc.) shall not be used by the examinee during the examina
tion.

10. No candidate will be allowed to leave the Examination Hall during the first hour of the examination.

11. The Question Booklet comprises of 100 compulsory questions and each question carries 1 mark.

12. Full Marks : 100 / Time : 2 Hours

13. Contravention of any of the instruction mentioned above shall render a candidate liable for disciplinary action as per rule.
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Time : 2 hours

AJMAL SUPER 40 ENTRANCE TEST
Class - VIII

Full Marks: 100

MATHEMATICS / %fde (40 Marks)

The athlete Hima Das starts from a point and runs 3 km
towards east and then 4 km towards north. The position
from the starting point is

Freifaw & vt @5t 7= ot oo e w4 3 fhsfs
AR 0ot ST 4 el Teawite e, (063 g
(T o9 F491 T3 7[1 23 -
Truifan e v wafh WS g (A dre wiee s
3 frefuie spdfwess T @3 wiReE 4 fafie Teafues o,
(e wies T4t 9 (A aw wie ok 2 -

(A) 5 km/ 5 s

(B) 7 km / 7 fsfSis

(C) 12 km / 12 Tt

(D) 1 km/ 1 fsfie

Which of the following numbers is divisible by 9?
TR (@O W 9 (3 F[etey 2

Moa @ 7L 9 7 ey 2
(A) 9076185 (B) 92106345
(C) 10349576 (D) 95103476

The adjoining pictograph represents the number of fish
each child has in the family’s fish tank. If there is a
total of 30 fish in the tank, then how many fish does
each fish symbol represent ?

7 oae @bt #if{miers wiw ot 24 et tarr
Q< 2ot AR =TS Wiew WAt @Y st 2z 7w
# 4TS TS 30 B MR =ATR (STT 2ifors! e fozr
ot g (redfER 2
wee1e fora @ sifFaitas g oiem Fat AwEa @A
o1 @3k 2ifSfS ARt RviRice wrew kUt T v 4t
itz | 7w RN GBS 30 Bt Wz ATF o7 2fe M
P Felb MR IE ?
Number of fish in the tank
carios | )Ny wEm
Saily ,& ’9 i
e B I R
$=?ﬁsh

(A)3 (B)4

<5 (D)6
The rational number between two numbers is -
V5! AT ST 4F AT AR (20% -
7B A M A AAfHCT AL 7= -

(A) zero / ¥l B)1

©)2 (D) infinite / SmRY]

How many cubes are needed to make the solid below:
ToTa foarsre ATt T TR 2R -
e oafrs et TeEa 74 2= -

(A)9

(B) 14
() 18
(D) 21

A 24,000-gallon pool is being filled at a rate of 40
gallons per minute. At this rate, how many
minutes will it take to fill this pool half full?

24,000 9T Tea TrEHE @bt &ifs i e 40 olewieE
AN SfTe TETEH! Sty SrarTs W s Aifa 2
24,000 o1 Tl @& b Tem aifs [
40 (91T Trel ©fS FHCH Treamioa Syl T ofS Ffare
F© MY AR ?

(A) 300 minutes / fSif¥5

(B) 560 minutes / &5

(C) 600 minutes / 5

(D) None of these / @518 727 / @& o

In an IPL match between KKR and RCB, Rs.6496000
were collected by selling some tickets. If price of each
ticket was Rs.58, How many tickets were sold?

KKR @< RCB ¥ W[&re S1{%e (2 @97 IPL (4]
a6 @ SR 6496000 51 7ez w41 (2fXe | 7w
aifeas Baba o1 58 591 27, (ot% 3 fFiem = et
e 2

KKR @3t RCB 3 1) Sf#e @& [PL [t (4R
5 [fer w02 70 6496000 B A2z 41 z& @

=ifefs Bftsa o0 58 Bt 27 wrzre 3o Folb Bfes
e =t zcafem 2

(A) 112000
(C) 122000

(B) 114000
(D) 124000

The mean of 10 observations is 25. If one observation,
namely 25, is deleted, the new mean is
T 10 Bt A9 9T 25 2, W< ©IT Bt 2RI
25w faeet gt arg fee =9 2
T 10 Bt 2RI AT 25 T, 932 ©IHd GF
AL 25 & AW (WET T O T 9T F© J(A ?
(A) 25 (B) 20
(C)28 (D) 22

The average weight of sample of 10 apples is 52 g.
Later it was found that the weighing machine had
shown the weight of each apple 10 g less. The correct
average weight of an apple

10 B SToieTe TS ST 52 &N | 2liwe @l s's (@ ST
(S TER &SB! WT2RTe €T 10 ST T WYACR|
2ATSTH! StoreTe wF 51T €T (R -
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10.

11.

12.

13.

14.

10 5 SToATeTa 1T 9T 52 &N | 2ita @A (ot @
aT Mot T 2fS witoTm oo 10 v F
wRrerR | 2fSTH ST wT AT OT 79 -
(A) 62 g/ &Iw (B) 54 g/ &
(C) 56 g/ & (D) 52 g/ &

Ages of two cricketers Dhoni and Rishab Pant are in
the ratio 2 : 1. If the sum of their ages is 51. Then their
ages are

D (403 (4T S 4T ATI IPE A 2 : 1,
T (SETAIFT IR AT 51 2, (ST TOSTENFA
ATOIFT T T4 -
T (AT (A @R ATF AT O SIS
2 : 1, 9 SItwa IR oI 51 T, O1R SIthd

(A) 34 yrs, 20 yrs / 34 924, 20 929

(B) 34 yrs, 17 yrs / 34 q%1, 17 q=1

(C) 20 yrs, 10 yrs / 20 %1, 10 921

(D) 30 yrs , 15 yrs / 30 q%q, 15 9=

Which of the following numbers would not have digit
1 at units place ?

TR (FICH! AT GFFT 99 o1 | 927 ?
AoA (@0 AANF IFCFF A ALF 0 | 77 2

(A) 297 (B) 417
(C) 53° (D) 69°
In the given fig

PQ|RS, ZPAB =60° and ZACS =100°.
Then ZBAC =?

e foae

PQ|RS,ZPAB = 60° @< LACS =100°.
T (ST

ZBAC ="

ene fora
PO|RS,£ZPAB =60° &% LACS =100°. T8 o3
ZBAC =7

2 A Q
(A) 40° 60} '
(B) 60° / -
(C) 80° € D
(D) 50° R B L S
9 9 9 1

Z =4 + =

10 100 1000 1000

(A)3 (B) 2

(C) 2.999 (D) 2.991

Ifx *y=x+y—x *ythen find (-10) * 5

15.

16.

17.

18.

Mx*y=x+y—x*yT, (G (—10) * 53T

e =i -

TMx*y=x+y—x*yT, @ (-10) * 57
(A) 45
(C) - 35

(B) - 50
(D) — 45

What should be subtracted from 0.1 to get .03?
0.1 3 »7t & fcaat wf7ee .03 cotrat A= 2
0.1 7ts & frast Ffaee .03 st wiea 2

(A)0.7 (B) .07
(C) .007 (D) None of these /
able 72 / «F oS T

In a triangle ABC, AD is the altitude from A such that
AD =12 cm, BD =9 ¢cm and DC = 16 cm. Examine
if triangle ABC is right angled at A ?

/\ ABC 3 AD tarewe! T8 AD = 12 =:fite,
BD =9 ¢&:fSig, =< DC = 16 (%:f5ig | e el 41 @@
ABC fage A (Feht T 28 (7 7= |

/\ ABC fagrea®afe AD = 12 @iz, BD =9
@53, @ DC = 16 A3 | &wi= et @ ABC
fagwia A @l e &

(A) Yes /=n / 3t

(B)No /=¥ /=

(C) Cannot say / ¥’ (NFICal / F&1 7S 7

(D) None of these / @518 727 / ¢&be 71

When an arm of an angle is extended then the measure
of angle

@fSa @Fie A AT @BR v I 1 2w, cofem
(FleF A
T (Fiol AT AT GF A O I A 2T, T
CAAERIERIK
(A) increase / qifoa/ I oifm
(B) decrease / Ff5@ / FT
(C) Remains the same / atF AN / 92 ANTF
(D) None of these / @18 727/ @Ffo8 71

In the adjoining figure. It is given that D and E are the
mid-points of AB and AC respectively. If

/A=80°,/C=35°then ZEDB=

wete fwal o@e D =<6 E 2% @0 AB ©I% AC 9
wfew 19w L4 =80°, ZC =35° =3, (t®
ZEDB =

9 2ne fora D @32 E #ts AB @32 AC 7 999 |
T £4=80°, £C =35° =a,%ta LEDB =
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19.

20.

21.

22.

23.

(A) 120°
(C) 70°

(B) 160°
(D) 115°

Arpit has some marbles in his bag. He puts half of the
marbles in a jar and one-sixth in his pocket. If total
marbles are 10 more than twice of the remaining
marbles in the bag, then find the number of marbles
in the jar.

wf*feq Gt feg e =it | &1 oite st S
(B® T & TN Ol A6 S | Tkt 9 Tdat
(S &4 T4 ReersiF 10 @R T, (S (G3re 4
e Aoyt foefa w4t -

wfifren AfeTTe FES AT witR| (1= wigt ATLE
I @R GF TR O 2ATHCE AL | I [P Mo

227 AfETCS A AT AR [l TTF 106N 2

(R I A Niedeera ey [efw weat -
(A) 30 (B) 60
(C) 25 D)5

The difference of the smallest five digit number and
the greatest five digit number formed by using 2, 1,
5,7, 0 only (Digits should not be repeated) is
2,1,5,7, 0 O@2oR At wwaies oifge i

“foot ok AT bzt 7 o wibiRets vieq
TRATMBIR 2Ny 27 -

2,1,5,7, 0 SFLTEAR 2aigie 7 w2 9ifFe zent#ife
T AN e (@ R FRAE TT TRAW A 21wy
20 -

(A) 73953 (B) 65053
(C) 64953 (D) 65953
XY (x (xY

b X c X a - 0
) {5F)AF)

(A)0 ®) 1

©) -1 (D)2
21001 _21000 —

(A) 21" (B)2

(C) 21000 D) 1

A man says " I am thinking of a number. When I
divide it by 3 and then add 5 my answer is twice
the number I thought of ".Find the number

G R FCE, “ R 9ot 2 eifare /st 3 @ e
FE 5 (@9 FCA TGB! 7 T FRAT GRA R 7,
RS e w7t -

GG AT FETCE, « T @ o A (SrATY @
3R ©l9 FE 5 el FACE et Sy Sidt wrAnw
T 7n”, i e wat -

24.

25.

26.

(A1 (B)2
(O (D)3
The value of l+;l is -

l+—l

l__

2

2
1+ ll
1+ AT -
l—_
3 4
A) — B) —
( )4 B) 3
(C)% (D) None of these /

Goie 72T / G oS T

Mrs. Joshi will put a fence around her rectangular
garden.

AT PR (orees ATOIFF Afavias @2 = [ o)
AT TA TR WTOFR AT @@ fwee i

e The length of the garden is 9% yards.
G4 o tatr 9% |
NG ey 9% G |

e The width of garden is 5% yards.
qifrsieea &g et 5% I |
arwoa 2g 5% IS |

How many yards of fencing does Mrs. Joshi need?

e} TS T 1w @ =nifaa 2
ETS! TR FC! 9IS (FF A 2
1

(B) 29—

6
A) 14—
) 10 12

(D) 30+

1
C) 29—
(©) 295 p

If a, b, ¢ are integers, such that a > b, then
T a, b, c TG T 2, TS a > b (ST -
T a, b, c WA A T, (TATH a> b O -

(A)axc>b xc,ifcis positive /

axc>bxc, IMc YT
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(B)axc<b xc,ifcis positive /
axc<b x ¢, I c 4NYF =T

(C)axc>Db xc,ifcisnegative /
axc>b xc, M c AAIF 2T

(D) None of these / @Bt 727 / @& e 7

27.  Which pair of figure has the same fractional area

shaded gray ?
@R oae 7 73 WFE wexF i Fifer 7w 2

@raret fHrad 2w wige st Sk Fifera e 2

o I 1T Wi
(C)E(D)E.I

28. If the numbers 7, 14, 28 are in continued proportion,
then the mean proportion between 7 and 28 is

T 7, 14, 28 FRANTHLD! FAFATTS AT, (ST 7 O 28

SEUACUICEER
T 7, 14, 28 MANLTEN FAGATS ATF, O3 7 @38 28
Q Y TS 27 -

(A)7 (B) 14

(C) 28 (D) 196

29. Mona spent Rs. 40 and had Rs. 10 left. What fraction

of her money had she spent ?

TR 40 5 1 FCE Wi 10 551 grow 2AifFe | wig
Si2q 2i2pie e st 377 wfaee 2

T 40 B A49R FA @R ©IF FTS SRS 10 it
ATF | T OF BIFE FCo! A AFR FACE 2

(A) 14/5 (B) 40/5
(C) 4/5 (D) 1/5
30. The value of (512)%2 is
(512)%92 I -
(512)%92 ERICE
(A) 172 (B) Vi
©2 (D) 4

31. Ina triangle ABC, if AB> = BC* + AC?, then the
right angle is at

I ABC fage® AB° = BC* + AC =3, (1%

FACHI (B 29 -
I ABC f&etes AB° = BC* + AC” 79,91
oS 23 -
(A) A (B)B
(C) C (D) None / €Bie 27
/ «&foe 7

32.

33.

34.

35.

36.

AB and CD are two chords of a circle, if only AB
passes through the centre of the circle, then

ABI[® CD 202 «b! J&a ot | T AB (9@ (FT
TS [, (TS -

AB @R CD &6 e Ot | T (&9 @ AB (@A
Sy fwem Aw, o3 -

(A) AB = CD (B) AB > CD
(C) AB<CD (D) None of these /
«Bie 7ZT / @FTHe 7T

Which of the following shows the maximum fall in
temperature?

TR (FICHIE TBieece (@R el g1 (=13 I 2
e @ _w @ Taee! FW 29T T 2
(A)5°Cto 1°C/ 5 T&& (e T 7t 1 fe&t (e
5°Cto 1°C/ 5 TS 127 (e 1 foift =1 ¢
(B) 4°C to — 8°C / 4 &R (%3 7 7t —8 ot (= ¢
4°Cto—8°C/4fedht 127 (w8 ot =8
(C) 0°C to —5°C / 0 &Rt (%3 7 7t —5 &t (¢
0°Cto—5°C/ 0 feR 137 (AF —5 ol &1 ¢
(D) —4°C to —8°C / —4 fS& (22 7 o1t -8 feh (¢
—4°C to —8°C / 4 fo&t 137 (w8 e ¢

The sum of the prime factors of 631s .
63 T CNferF TAWE I72T CoITeT (202 -
63 3 (Mo TAMFITET (o =CA -
A4 (B) 8
©) 10 (D) 14

Mr. Ranjit Kumar Singh asked each of his 30 students
to select their favorite bollywood movie.

& 3feye T B (@ (997 30 T WERAF Afdfers
) 7fgre T B T 30 oW wERaE ot fom
FARR AR FAR T I -
e 1/3 of the students chose "Krrish”.
1/3 el RaRare “faml” oigw 33
1/3 st i@ Riarat “femt” oiew FA |
e The remaining students chose Station "Total
Dhamaal"
AR QAR “ (BITE LI Agw FCA|
IR RERE! “ (BITHe LIS 2w S |
How many students choose "Krrish" as their favorite
movie?

e gaaca “fe” & 2 @ ot ard

Ffafe?
Foo gEad “m” @ o sl 3w @ e
(A) 10 (B) 20
(C) 27 (D) None of these /
«5he TZT / @I o8 77

Using only the paths and directions shown how many
different routes are there from M to N?
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37.

38.

39.

Fig ool aiat (FY8at @Bt %12t 31 JIZIT FECE,
M T %]t N & caiat fewient fom st 2ifFa e
7 forza 7l @RIT A2 93419 F92F FAE M
(At N @ Thenia F96! [Kfen as! w2

(A) 6 M
(B) 4 A .
)3

(D)2 L — N

If a, b, and ¢ are the sides of a triangle then.

T a, b, O c @bt faged IR 2T, oUF

TW a, b, A c @bl fagrem a2 27, SiEe
(A)a-b>c B)c>a+b
(C)a+b>c (D)a+b=c

For any two rational number x and y which of the
following properties are correct?

X O y [ T ¥t 2w R oFae ©eq

CFICH! 4 i 2

x @Ry G2 6 AR A CFC@ Ao @ 4 w7 2
Ox<y ()x=y (i) x>y

(A) only i and ii are correct /
G i il W /
193 il ¥a

(B) only ii and iii are correct /
T ii o il W /
il @3% iii &R

(C) only ii is correct /
9 ii B o /
i 7 5 wm

(D) all i, ii and iii are correct /
i, ii = iii SNGTRCFEo! uF /
i, ii @R iii TR T

Two chimneys 18m and 13m high stand upright in a

ground. If their feet are 12m apart, then the distance
between their tops is ...........

18f31. =< 13131, Toveta wot fowat wifoe Terg ©ita 2w 2
itz | =i foumt wore e ey 12 & 2w cow ot goi
N e v e 2
18731, @3 1331, Toveta 12fb ot ot Gt 73 we
FACA 27 | T ol 12foa Feeiees 77w 12 =y, s
THFSIOR TAG F© 2203 ?

(A)5m / fa.

(B)31m / f.
(C) 13m / f.
(D) 18m / .

40.

41.

42.

43.

If the area of a circle is A, radius of the circle is r and
circumference of itis C, then .............

T @5t gE 3 Ffer A, i1 r = #IfFfs C =7,

(A)1C =2A (B)§= %
2
(©AC =~ (D)é= C

SCIENCE / {381+ (40 Marks)

Which of the following is an example of kinetic
energy ?

SR (FIC! IS =ifeq T ¢
qeox (G IS e Trrzad 2
(A) A boy is sleeping / @&« F]| WL AT /
@ I e
(B) A fan is switched off / Q¥% (e 9% (2 AR /
% S AR @B @WIeS 2t
(C) A car is moving / @2 9eitx 9ifS Ff7 =R /
@& (b HeTg oSt
(D) A girl is watching television /
aea A Bfe sire /
@& (A GRferm midrers

Convert 72 km/h into m/s

72 efite / wbie g / caraetel Afvqsy o -

72 et / w1t s / oitee @ dAffTesa Fat -
(A) 10 m/s / 10 fTte/ e / 10 e /oewe
(B) 20 m/s / 20 fie/car@e / 20 fiis / iie
(C) 40 m/s / 40 T3/t / 40 fe /oiwe
(D) 30 m/s / 30 fate/ cr@e /30 fiig /e e

Which among the following is the fastest?

TS (FICO! AGIRSF @A 2
TeoA @0 FRCEC (TN oS 2
(A) A bus covering 10 km in 10 minutes /
Qe 3Tg 10 WfB 10 e oy wfeew 1 /
10 ffeEs 10 fefite vy wfoww Fat aafs am
(B) A car covering 40 km in 1 h / Q2= Sf8ieT 1
1 9951w 40 fefits vag wfses #ca /
1 9951® 40 fFelile v wfows Fat @@l oSt
(C) A bus covering2min 1 s/
Q4R TR | (Fes 2 FioRE ey sifees #0a /
1ETEe 2 FibE e sfews Fat @& I
(D) A car covering 200 kmin6h /
@4 TSI 6 75T 200 fFsfiie Ay wfowmw
E /
6 9eB1H 200 fefie g Sfows a1 @& oSt
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44,

45.

46.

47.

48.

The Unit of the ratio of displacement to distance is :

IS TN e s Sl ee OFFHTRT 5 -
M B B | B '&‘!“! "‘1;\ UV SN LYLE LKL

FR GAR FACTA S 2ITSH GFHH 2 -
(A)m/ T
(B) m® /e’
©)m’/ fe’
(D) No Unit / (FIT 9FF TR

A person starts from point P and travels along a straight
line path of length 1 m, after reaching at point Q he
starts moving backward and reaches the same point P.
Find the distance travelled by a person

e M 1 59 e Feea i 21d abre PR o
T =8 FE Q e ToifFe (2wt P [Rewts Tefe
TR | AL Ao T 7 el Tt 2
aF b (AT AT oite P Reraes 1 o a@ #62 Q
s (et 7@ fomtwes et Fea i P e
TR | TAFToA AAt e #41 g7g e eat 2
(A)2m/2 e (B) I m/ 1T
(C) Zero / ¥y (D) 0.5m/ 0.5

How much distance does a car cover when it moves
20 km to the east and then 60 km to the west ?

Q4 SIS e vy wifewrw Ff< qfirz M@ o
T 20 farefiie == #if*ow e 60 efire 7ag wifows
FE?
{5 oM} 2 Twea 20 fFefie Tatw o= «f*sw ez 60
refiie raw wfoems #3171 wfows Fa1 w3
Fo ?
(A) 60 km / 60 Tsfaie
(C) 20 km / 20 fsfate

(B) 80 km / 80 f&efai
(D) 40 km / 40 Tsfaie

An object completes one round of a circle of radius 7 m
in 20 seconds. The distance travelled after 10 seconds is

T <5t qgen 7 FHR PR IE Whre T2 @siiw
TOIITS 20 (LIS I 7 (S0 IFOICH 10 (AP
e v Sfowrs F(93 |

7 ot ond TR «a e 3 oo sface «=
TFA 20 EIPE T FACH 110 G 77 Aoz Fai

Ve R0A -
(A)22m/ 22 (B) 24 m /24 33
(C) 26 m /26 g (D) 28 m/ 28 it

10 coins are placed one above the other. Their total
height was 4 cm and 6 mm. The thickness of each
coin is
10 B\ S[@! @Bt B @ oiF® Ara JHAFE 33 Twoet
4 (o = 6 Wefiie 2ta 2Afeth! wi oot Tm 23 2
10 51 @R @F 3 TR SAESH AT OItwd wovo! 27
4 cxefiis = 6 Wefie . 2/fefb Jue Trge! 21 -
(A) 4.0 mm/ 4.0 sfz (B) 4.5 mm /4.5 fefite
(C) 4.6 mm / 4.6 fefitz (D) 46 mm / 46 Tt

49.

50.

51.

Which among the following is the unit of force?
SETR (FICH! I 9FF T ?
oA @FAD I GFF ?
(A) Newton
(B) Dyne
(C) kg.m/s
(D) All are units of force / SBIFLH! / TATAR 7

The time period of a ‘second’s pendulum’ is
@Bl (e @EEF I AT i -
GFH ‘GIFS (WS 7 ARGITHIE -
(A) 1sec/1 (RFe /1 LIS
(B)2sec/2 (RFe /2 (TS
(C) 1 min/ 1 &% /1 FfFG
(D) 2 min /2 f5f¥5 /2 fafss

Nidhi has two bulbs connected across two cells in a
simple circuit as shown. How can she make the
bulbs glow dimmer?

TS (T4 S3 TSN wed FIHCa 9ol A o1 (Apfed
(I 90 IRTE F(0Z| B2 (FEAT AT [T
TegeTe! FW FE ?

vz TS (AT sre Y B a9 9z @5
(P LA FF | (1 T el AT 1fod Teerere! FW

R ® @

I I
(A) Replace one cell with a piece of chalk /
@Bl (FF TM 5& T ©IFF T I FCI /
@& (@FEA 270 GF 5 5F 92 IR

(B) Replace one cell with a piece of wire /

Bl (F1T M GTTINT O (A0S A FCI

@76 (@FITTR SIS G HFA! OiF AT FR
(C) Replace one bulb with a piece of wire /
Tt B! AeR AT OIS QIR AW FCR

{6 AT SIS GFHFAl Ol AR FCA
(D) Replace one bulb with another cell /

T B! AR O @Bl (FI QIR AW FCR /

G5 eI AfFAS WA @3 @FEAIRA

e

52. Name the instrument used to control current in an

electric circuit.

Agfes e be Rserrz g #@ta gk 4t
wifReACHE s feret -
@& (agies IeTe e fEe o7 o A9TR F4i
IO AN =1L -

(A) Ammeter / @fiBR / @fS5E

(B) Cell / @

(C) Plug key / 2ot &

(D) Rheostat / R@t85 / fFa'ce6
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53.

54.

55.

56.

Electric current is the flow of —

g 7R (2R GEIES
[SLiICRRAEIEY @3 2_Z |
(A) Neutrons / g / fRgw
(B) Electrons / (@G / ZERG
(C) Protons / &5« / &=

(D) None of these / @B18 ITT / TATAT GF (B8 7

If the radius of curvature of a spherical mirror
is 34.52 cm, then the focal length of that spherical
mirror 1S
Tt @4 (ANFAFR WA o g 34.52 csfite =7,
(STT RN FHI5 (0 24 -
@ fo calreTieia weftem oie e 34.52 (mefie zwe
wofelfba criwt e =@ -

(A) 17.26 cm / 17.26 c=zfSis

(B) —34.52 cm / — 34.52 =gt

(C) 69.04 cm / 69.04 (Zzfi

(D) 34.52 cm / 34.52 (%gf¥is

A triangle drawn to a reduced scale to measure the
distance between P and Q is as shown below. If the
actual distance between P and Q is 3 km, and between
P and R is 4 km; the length of the line PR in the
diagram is .

P ‘Q’ TR A GiEce bl fages wete (weedl
Y3 FF DS F7fe OF! (20> | M P’ A= ‘Q’ M
oFe 1Ay 3 fFefie o, ‘P =% ‘R* 1 (1w 14y 4
frefite = 1cote foge (ryeat PR @aides (v 23 -

fiewa Bora P @3k ‘Q’ 3 iR A e F A T
RS Fe1 92 TR @7 (Ggs wiw za| 7
‘P’ @R ‘Q’ T 2F© v 3 [Fefils @k ‘P> @z ‘R'7

7y 4 [F:ffis zm ©ra PR 1 70 =03 -
R
P:', 6cm HQ
(A)2 cm /2 cgfits (B) 1 cm/ 1 czefiie

(C)4cm/ 4 =i (D) 8 cm / 8 =gt

If the angle of incidence of a light ray is 60°, then the
angle between the mirror and the reflected ray will be

Tt @B (oET IR Torew (@F IR T 60° 2T (ST

el i< eifowere M TeE (@i 29 -
T «F 6 ST aRE Sored (Fie 60° 21 o3 afewere

A g: wofello sty (Fiees oifee 2 -
(A) 30° (B) 60°
(C) 90° (D) 120°

57.

58.

59.

A light ray is incident on a reflecting surface as shown
in the below figure. What is the angle of deviation?

weTe it foare (reeat wae e elfewfers oore @bt
(A3 I wilfos etz Tae Rpfes @id T g'a e
Teoa Bora @l efsTmaiat o @ St af
weifee 27| fagfe @ fdfa w0 |

(A) 100° (B) 120°
(C) 80° (D) 180°

A virtual image larger than the object can be produced
by a
\o—};ia (BT TTHRESLE Tled wiiaa spre 2ifefa
16 F{A A -
TFRGACGE I3 TFIEE P 2AfSfy 1o
(A) Concave lens / SIq@e (&79/ SO (&
(B) Concave mirror / SITe& RTINS/ See wofel
(C) Convex mirror / T&a Roiie/ T@at wofal
(D) Plane mirror / Fe& WITA / (et wofol

Two beakers M and N of water were heated at different
times with different burners. The graph shows the
changes in the temperature of the water in beakers M
and N.

M =i N Reie 4ot @eatel (@eetet s @t At
A 9w F91 C2feF | were frat (@es Mo N @ ies
AN THwelq oifvae (el Tzl

M @3 N Ttz yfore fom fom smen fon fomatdina o

9% F41 29| ApA @12 Hra M @3z N &7 e

T TSI ATIE ewe(el T4 24 |

Temp (°C)
A
100
80— M
60
40
20+
0 1 1 1 ] ) ) :
8.00 8.10 8.20
am. am. am, am.

(b)

Select the correct option regarding this activity.

R FIIFER (Fae were frat Regprga ot wai!
i TRl
@ aferaifore Sva RFeeced @A wa @@ 6 -

(A) Water in beaker 'N' boils before the water
in beaker'M' /
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N' T ARRE M Jei= 2ifets
TS Tera |/
Teled

(B) The water in beaker
stronger Flame

N' R Wﬂﬁ@fiﬁiﬁ faraice
AW/
N' fReicaa ot (7t =ittt fidia =t
A=A |
(C) Water of both beakers reach the same

temperature at 8.20 a.m. / GTAIG! R&FES #Att

8.20 a.m. © GTFE CHOS T2 T

i feitaa oo Tawet ste 8.20 @ @32 TA|
(D) All of these /T#94 SIBIREH! /

ToltaR R

' is heated with

60. Filtration as a method of separation can be used for

mixtures that are :

FiTac ats Fpitat Afmie gaee i@ crRER
e e, RA=-
AAFIFA G B 2AfFmae oS araze w4t qm
R TR (T, AT -
(A) homogeneous and liquid-in-gas mixtures /
TG ST (9FS TS Tt /
TG 3R A ST (rlet
(B) heterogeneous and liquid-in-liquid mixture /
T SIS SIS e e /
ST 3R SATE SACER Tt
(C) homogeneous and solid-in-liquid mixtures /
TG T OITS FoeTq (vt /
TG GRS i 77 et
(D) heterogeneous and solid-in-liquid mixtures /

TG SN SIS FoF A /
TSI FR SACE FIOCF Tailel

61. Reddish brown coating over the surface of iron is called

Rust. It is formed due to
(TR 2P® (W (21 TETHIA Yol II0F 2ATE9IF T e
@I V| G A5 (RIS TG T

NIRRT L 2ANST S AW 0T ATAICE Ao
e, S5t ASCTa R -

(A) Oxygen / SIf3CeH
(B) Oxygen and water vapour /

ST S T Aot/

TS @R T Aot

(C) Water vapour / &&la oot

(D) None of these / €299 @518 72T /
GITIT GFOE T

62.

63.

64.

65.

66.

When a drop of phenolphthalein is introduced in lime
water, the solution turns

B¢ #Ala® phenolphthalein F (Bioi& Catet FaeT, T qa¢
2 M-
BUeA ST phenolphthalein 7 CHIB (19 FACET 2219 AR
=@ -

(A) Blue / &1t/ =1

(B) Red / g€t / =11e1

(C) Milky / ait@a fafoet / wrua e

(D) Pink / @A/ sTER

Which acid is found in curd?

AT (FICH! @iz Fe coltat T e

Toa @D afere 7 @ sewt A 2
(A) Acetic acid / «fofos afge / «fifos afe
(B) Lactic acid / (3% «fe® / (1(5% afre
(C) Formic acid / wfie «afee / whi affre
(D) Citric acid / oi2fEs «fge / AiX{gs afe

Ice floats on water because ?
79T AN eoATe, FIA -
ITT T SITA FIE -
(A) density of ice is higher than that of water /
I I 29 TTgeld @R
AT TG G TGCOE (T
(B) density of ice is lower than that of water /
ITF TG AT TIgels I /
(C) temperature of ice is lower than that of water /
I9T9 TS AlrelE I /
(D) temperature of water is higher than that of ice /

AN TIo! TTTFOF (@R /
TICETR SOl IACFACOC A

Metals can be beaten into thin sheets. This property is
called :
Yiess Wi AR 2fes 2ot sifedo Ffa #iifq)
@2 oS (FIa 2T -
et A6 orwet siite »fsden w41 7|
Tl 2 -

(A) Ductility / wwaFe!

(B) Elasticity / Rfegiomet

(C) Volatility / Tafrel

(D) Malleability / Srewgamet

NICERCEE bicd

William observed formation of the green layer on a
copper statue in his home. This formation is due to —

TR ©iF 991 @5t OiE AT EReGT T @Bt A1
21 (et ~AfRfeE | TR Ao e -

T ©'17 rA OINIA ST IS A0S GF T efrere!
Rl 2T | TRIF 9M0TE FRe -
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67.

68.

69.

70.

(A) Chemical change / Il 2ifeqee /

(B) Physical change / (Sif$ #ifsqea /
(Sifes »lfFaea

(C) Periodic change / #{e sf¥qsa /
e Afaaea

(D) Both (B) and (C) / (B) @< (C) GEAGR /
(B) @& (C) TerR

Sunidi is asked to prepare a dilute sulfuric acid
solution from concentrated solution. What should
she do?

LT N wEreE afzws 2[@i 1Y gatres aige
g A (@RI (20| O & T Thhe 2
AR oMp AT G e @iy Ao EE afte
AFe FAO T T | AT FAE 2
(A) Add water to the acid / «@fg@e 2R ot w1 /
aferre & @ie F9
(B) Add acid to water /?llfre «fge caiet w47 /

TCA GPTe (Aol FEE
(C) Add a base to conc. Acid /
G afees we @it Ffa /
AN «fiTe W @9 FAE
(D) Add an alkali to conc. Acid /
0T «izws Fee @9 F1 /
9T GPTT FEF @9 FAE

The acid present in our stomach which help in digestion
of food is.

MG TETS TR F4I (FARY Gfes Sig Ao
TF ?
YA T TRF (Fe TR GfFTC ST AT
S ?

(A) Acetic acid / «fofs afge / s afe

(B) Formic acid / &5 afge / wfe affre

(C) Hydrochloric acid / T2ea<s afzs /

2REFiE afre
(D) Tartaric acid / 5i5ifvs «fzs/ 5ivife afe

Milk of Magnesia is used to mark
‘Milk of Magnesia’ (2(%
qAva @A &S ‘Milk of Magnesia’ 929 41 2T 2
(A) Health drinks / /&< A/ e s
(B) Antacids / @BIfRE / SHAF
(C) Acids / @fge / «afre
(D) Alkali & bases / IS =< FIF /
FE AR FEGF

Lysosome is present in
R S CAE T |
TR QANeT T |

71.

72.

73.

74.

75.

(A) Prokaryotic cell / T F@a & /
YCFA (TR T

(B) Eukaryotic cell / AIHT (F@ &1F /
AP @@ FE

(C) Nucleus / (FREFH / (FRTH

(D) Mitochondria / WiZs Ffga / WG’ Ffgm

Tomatoes are red in colour. What causes the red colour
in them?

R et = T T -
BTCH! 1 26AR FIFe T4 -
(A) Hemoglobin / fawafdm / frafew
(B) Carotene / (Ftaifoa / Faifoa
(C) Chromoplast or Plastid / @2 at 2ifSe /
AL A 2T
(D) A red colour dye / 9! IGF< T /

Animal that give Birth to young ones are known as
R afiea coraret e fuca Frree (et =9 -
(T el 0= T ) SITwACS JeTl 2 -
(A) Ovoviviparous / Seifeferaars/ sreifefera@m
(B) Oviparous / SIfST#alb / SferaaA
(C) Viviparous / feferatas / feferemm
(D) None of the above / €299 @Bis 727 /
TAAER GF S T

Metamorphosis is seen in the life cycle of
BT Tor F19 & bars (7t AT 2
CBIRE oot F1F G ber (el AW 2

(A) Earthworm / (3% / &%

(B) Bee / ¢ =iy / G wifg

(C) Silkworm / To@as / fomas

(D) Mushroom / Rz=if / iTed get

Cell wall is made of tough material known as
@A Ao (=i o ~mid i e -
LD oifd zen i miel @ = -

(A) Cellulose / (ZETeT& / (AEICeNe

(B) Protein / &6/ &ifom

(C) Carbohydrate / FHLIYs / FIIQCEH

(D) Fats / 5% / o

Plasma membrane is also known as

(I S 91 ATl SN [ AF AT TS -

(FI[AEF! ST TR SIS W -
(A) Impermeable membrane / SCeW FLe /
RIACIGACIEEE]
(B) Semi permeable membrane / S€TeW SNg1e /
RECACISED

(C) Active membrane / F{&g Siqae / Afew o<l
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76.

77.

78.

79.

80.

(D) Both (B) & (C) / (B) @< (C) {TABR /
(B) @3¢ (C) Terz

Most of the reactions which keep the cell alive take
place in —

@FEF iern AT aioe @t @t [
© AkEoe 7|

CFTAC A AT Ty e e

« RIS 27 -

(A) Nucleoplasm / Fefgasiem / FefFaaiem
(B) Extracellular fluid / @RGIT=eTeR Fidw /
GG LT

© Blood / (& / @&

(D) Cytoplasm / (FIRAD / (FIATA

Control the transfer of hereditary
Characters from parents to off spring

forea w1t st eeifee cziat vfag e
e 63
Pretets TRita Ty v e ffage #e
(A) Gene / &=/ f&m
(B)RNA / QIR @7 @ / 7 & @
(C) Protein / @fo / &fow
(D) Chromosome / @& / &G

Hormones are secreted by
T 37t faofe =31
AT 7w fefe =
(A) Endocrine glands / «reteizs &% /
arelEE &ty
(B) Exocrine gland / @t3eeizs afyg /
arIeen oty
(C) Pituitary gland / 5z afy / Ppaat afy
(D) Hypothalamus gland / Zfgetiies afy /

AT &ify
The Nucleoplasm cytoplasm together make up
(AT 2T - (T A qFers 5 A -
(FAEE 27 - (FI 247 GFAR N9 FTA -

(A) Cell mass / (FEANY / (FEAWY

(B) Cell organelles / (F1q SR AR / (FIAIR TR
(C) Cell fluid / (14 ¥4 / (319 4

(D) Protoplasm / @5 2ier / &5 gliers

Study the Venn diagram.

were fral (SAbas! SYEs F 4 -
N ave (A SILEs Sl -

7 e / it sifaae /
7 e it s
Permanent Chemical
Change Change
Irreversible
Change
LIRS
Centre point represents

(A) Melting of ice / IT%1 9o / JACFF AT
(B) Boiling of water / 2I{\iq &@e1e / TCeTa "5
© Rusting / S 4qt / w4t 4@t

(D) Condensation / ¥ate3e / qereqe

ENGLISH / 3% / 2a1& (20 Marks)

Choose the right word(s) from the alternatives given.

81. An example of Present Continuous Tense is:
(A) I need some drinking water.
(B) Drinking enough water is good for health.
(C) I saw him drinking water.
(D) He is drinking water.
82. The sentence “I have a new pen.” is in:
(A) Present Indefinite Tense
(B) Present Perfect Tense
(C) Future Indefinite Tense

(D) None of the above
83. The past form of ‘hear’ is:
(A) hear (B) heard
(C) heared (D) heart
84. “He tells interesting stories.” --- The underlined word in

this sentence is:
(A) averb (B) a noun
(C) an adjective (D) an adver
85. This book is mine and thatoneis........:

(A) she (B) her
(C) hers (D) her’s
86. “May God bless you.” is an example of
an............. sentence:
(A) assertive (B) imperative
(C) optative (D) exclamatory
87. The antonym of ‘urban’ is:
(A) turban (B) rural
(C) town (D) city
88. The word ‘fortnight” means:
(A) forty nights (B) fourth night
(C) thoroughly (D) thorough
89. I have studied the chapter .
(A) throughly (B) throwly
(C) thoroughly (D) thorough

90. Of the following, the correctly written sentence:
ugust is India’s Independence day.
A) 15" A is India’s Independence d
(B) 15" august is India’s Independence Day.
ugust is Indias Independence day.
C) 15" A is Indias Independence d
(D) 15™ August is India’s Independence Day.
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91. Necessity is the of invention
(A) father (B) mother
(C) brother (D) sister
92.  An example of passive voice is:
(A) Let him do this.
(B) He was invited to tea.
(C) I have seen him.
(D) He will have finished it by 3 pm tomorrow.
93. Assamisknown.......... tea
(A) to (B) by
(C) for (D) with
94. ‘India’ is to ‘Indian’ as ‘Japan’ is to:
(A) Japanian (B) Japani
(C) Japan (D) Japanese
95. An example of a sentence in the structure SVO

Ajmal Super 40 Entrance Test — 2020 / AS40 / Date —03-11-2019 / For Details Contact — 8011440711 / 7035868755

(Subject+Verb+Object) is:
(A) He went home.
(B) I came yesterday.
(C) We have won the match.

(D) Narendra Modi became the Prime Minister.

96.

97.

98.

99.

100.

Indiais......... Asian country
(A)a (B) an
(C) the (D) none of these

Of the following, the correct sentence is:
(A) He is taller than me
(B) He is much taller than me.
(C) He is more taller than 1.
(D) He is taller than I.
Of the following, the correct sentence is:
(A) Where you were yesterday?
(B) Where were you yesterday?
(C) Where have you been yesterday?
(D) Where you have been yesterday?
The noun form of ‘true’ is:
(A) false (B) truly
(C) truth (D) truthfully
Of the following, the correct sentence is:
(A) My father’s brothers’ son is my cousin.
(B) My father’s brother’s son is my cousin.
(C) My father’s brother son is my cousin.
(D) My father’s brother’s son’s is my cousin.
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